

نام و نام خانوادگی: شماره: کلاس: پاسخنامه تشریحی تکلیف شماره:
 نام و نام خانوادگی: شماره: کلاس: پاسخنامه تشریحی تکلیف شماره:
 نام و نام خانوادگی: شماره: کلاس: پاسخنامه تشریحی تکلیف شماره:

$$g(n) = \sqrt{-(n-2)^2} \Rightarrow D_g = \{2\} \Rightarrow f(n) = \sqrt{\log \frac{(n-1)}{2}} = 2$$

$$\Rightarrow \log \frac{n-1}{2} = 4 \Rightarrow n-1 = 17 \Rightarrow D_{g \circ f} = \{17\}$$

$$f \circ g = 2n^2 - 4n + 11, g \circ f = 4n^2 - 24n + 41$$

$$\Rightarrow 2n^2 - 4n + 11 = 4n^2 - 24n + 41 \Rightarrow 2n^2 - 20n + 30 = 0$$

$$\alpha + \beta = 10, \alpha\beta = \frac{30}{2} \Rightarrow (\alpha + \beta)^2 = \alpha^2 + \beta^2 + \frac{30}{2} = 100$$

$$\Rightarrow \boxed{\alpha^2 + \beta^2 = 40}$$

$$g(x) = 5x^2 + 11 \Rightarrow 2x = t \Rightarrow x = \frac{t}{2} \Rightarrow g(t) = 5 \frac{t^2}{4} + 11$$

$$\Rightarrow g(x) = 5 \frac{x^2}{4} + 11 \Rightarrow g(x-1) = 5 \frac{(x-1)^2}{4} + 11$$

$$= 5 \frac{x^2 - 2x + 1}{4} + 11 = \frac{5}{4}x^2 - \frac{5}{2}x + \frac{5}{4} + 11$$

$$x_{\min} = 1 \Rightarrow \boxed{y_{\min} = 11}$$

$$3g(x) - 4 = 3x^2 - 4x - 1 \Rightarrow 3g(x) = 3x^2 - 4x + 3$$

$$\Rightarrow g(x) = x^2 - \frac{4}{3}x + 1 \Rightarrow g(3x-4) = 3(3x-4)^2 - 4(3x-4) + 3$$

$$= \boxed{27x^2 - 40x + 19 = g \circ f(x)}$$

$$g(n) = \frac{3}{4}f(n) - 1, f(n) = \frac{3}{4}f(n) + 1 = -n + 5$$

$$\Rightarrow -\frac{1}{4}f(n) + 1 = -n + 5 \Rightarrow f(n) = 4n + 4$$

$$f \circ g(n) = \frac{-2n}{a} + 2 \Rightarrow 2(g(n) + 1) = \frac{-2n}{a} + 2 \Rightarrow g(n) = -\frac{n}{a} - 1$$

$$g \circ g(n) = \frac{3}{4} \times (4n + 4) - 1 = 3n - 1 \Rightarrow 3n - 1 = -\frac{n}{a} - 1$$

$$\Rightarrow \boxed{a = -\frac{1}{3}}$$

$$f \circ g(x) = 9^{\log_3 x} = x^{\log_3 9} = x^2, \quad g \circ f(x) = \log_9 x^2 = 2 \log_9 x = 2x$$

$$x^2 \leq 2x \Rightarrow x^2 - 2x \leq 0 \Rightarrow x(x-2) \leq 0$$

$$\frac{0}{+} \frac{2}{-} \frac{1}{+} = \boxed{0 \leq x \leq 2}, \quad x \neq 0 \Rightarrow \boxed{x \in (0, 2]}$$

$$\begin{aligned} f\left(x - \frac{1}{x}\right) &= x^2 + \frac{1}{x^2} - 1 + x - \frac{1}{x} \\ &= f\left(x - \frac{1}{x}\right) = \left(x - \frac{1}{x}\right)^2 + x - \frac{1}{x}, \quad x - \frac{1}{x} = t \\ \Rightarrow f(t) &= t^2 + t \Rightarrow \boxed{f(x) = x^2 + x} \end{aligned}$$

$$f \circ g(x) = \log_2 (1-x-x^2) \Rightarrow D_{f \circ g} = 1-x-x^2 > 0$$

$$\Rightarrow x(1-x) > 0 \Rightarrow \frac{0}{-} \frac{1}{+} \frac{1}{-} \Rightarrow D_{f \circ g} = (0, 1) = A$$

$$\begin{aligned} \text{Range } y_{\max} = 1 &\Rightarrow y_{\max} = \log_2 1 = 0 \\ \Rightarrow R_{f \circ g} &= (-\infty, 0] = B \Rightarrow B \cap A = \emptyset \end{aligned}$$

$$\begin{aligned} f(f(x)) &= 1 - 3f(x) \Rightarrow f(x) = t \Rightarrow f(t) = 1 - 3t \\ f(x) &= 1 - 3x^2, \quad h \circ g(x) = x^3 - 3x^2 + \omega x \\ \Rightarrow x^3 - 3x^2 + \omega x &= 1 - 3x^2 \Rightarrow x^2 + \omega x = 1 \end{aligned}$$

دو تابع آلیفاً صدده جمع شد. و چون بردار R بیست. نقطه یک بیش دارد.

$$g\left(x - \frac{1}{x}\right) = ax^2 + 2x \Rightarrow x - \frac{1}{x} = 2 \Rightarrow \frac{x^2 - 1}{x} = 2$$

$$\Rightarrow x^2 - 2x - 1 \neq 0 \Rightarrow x = -1, \quad x = 1$$

مثلاً: $x = -1 \Rightarrow g(2) = -a - 2 = 1 \Rightarrow a = -10$

مثلاً: $x = 1 \Rightarrow g(2) = a + 2 = 1 \Rightarrow a = -3$